
Matematička analiza 1

Tablica derivacija

c′ = 0 (c ∈ R konstanta)

x′ = 1

(xn)′ = nxn−1 (n ∈ Z)

(xa)′ = axa−1 (a ∈ R, x > 0)

(
√

x)′ =
1

2
√

x
(x > 0)

(sinx)′ = cosx

(cosx)′ = − sinx

(tg x)′ =
1

cos2x

(ctg x)′ = − 1
sin2x

(arcsinx)′ =
1√

1− x2
(|x| < 1)

(arccosx)′ = − 1√
1− x2

(|x| < 1)

(arctg x)′ =
1

1 + x2

(arcctg x)′ = − 1
1 + x2

(ax)′ = ax ln a (a > 0)

(ex)′ = ex

(loga x)′ =
1

x ln a
(a > 0, a 6= 1, x > 0)

(lnx)′ =
1
x

(x > 0)

(shx)′ = chx

(chx)′ = shx

(thx)′ =
1

ch2x

(cthx)′ = − 1
sh2x

(Arshx)′ =
1√

1 + x2

(Archx)′ =
1√

x2 − 1
(x > 1)

(Arthx)′ =
1

1− x2
(|x| < 1)

(Arcthx)′ =
1

1− x2
(|x| > 1)

Pravila deriviranja

(u(x)± v(x))′ = u′(x)± v′(x)

(c · u(x))′ = c · u′(x)

(u(x) · v(x))′ = u′(x)v(x) + u(x)v′(x)
(

u(x)
v(x)

)′
=

u′(x)v(x)− u(x)v′(x)
v(x)2

(
1

v(x)

)′
= − v′(x)

v(x)2
(
f(g(x))

)′
= f ′(g(x)) · g′(x)


